AB PRACTICE EXAM 2 = 351

Section |—Part A

Time Use of Calculator -

- ‘Number of Questions
28

55 Minutes No

Use the answer shect provided in the previous page. All questions are given equal weight. There is no
penalty for unanswered questions. However, 1/4 of the number of the incorrect answers will be subtracted
tfrom the number of correct answers. Unless otherwise indicared, the domain of a function £ is the set of all

real numbers. The use of a calculator is #ot permitted in this part of the exam.

i 6 4
Ay = B C) =
(Al 3 (B) 5 ) 3
1 96
D} -= F) -2
(D} 3 (E) 5
Xt 4 dx— 5§
2. The lim ud +,, el is
et x3 - 1
(A) O {BJ% ) s
(D) ~oc (F) oc
3. What is the lim f(x}, if
. ix—1 ifx=-2
flx) = , ?
2x4+7 fx=x -2
{A) =3 By 1 (Cy 3
{Dy 11 {E} nonexistent

4. The graph of f is shown in Figure 2T-1.
v

A

F

VA

Figure 2T-1

. What s the lim

1IN,

Which of the graphs in Figure 2T-2 on
page 332 is a possible graph of f2

’ 2costdl =

w2
{A} 2 cosx {B) —2cosx (C} 2sinx
(D} —2sinx+2 {E} 2simx — 2

- . _ 1 -
. Given the equation y = 3¢7<%, what s an

equation of the normal line to the graph at
x=in2?

{A) vz%(x—lnl}-i—%
{B) v:%{x—i—lnE}—g
(C) mz—%{x—lnlifg
(m;z—gu—mb—g

(F) vy =24{x —In2) + 12

csc(m/4 + b) — cscin/4) X
[ b :

(A) V2 (B) —v2 (C} 0

() 5 (E} undefined

. If fix) is an andderivative of x*/x3 + 1 and

F(2) =0, then f(0) =

(A] —6 (B} 6 ()
—52 54
9 {E}7?

ot
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(A ¥ A

{Dv\ (E] YA
+ > /\ —>
o 0 b . ¢ t 0 X
Figure 27T-2
9. 1 a function £ 1s continuous for all vatues of x, A
which of the following statements isfare always
true?
[ 2 f
L 2 fixidy = ] flx)dx
i i
b 1 L.
1. [ Fixhdx = ji —fix)dx {} g
g ¥
‘ h . ; h
I / /f_x}dx] = Fixi| dx
1t i
(A} T only Figure 2T-3
) (Bl Tand 11 only
(C) H only
. 4 _
(D} I and 111 only 11. x_,; _l._dx =
(E) L1, and 1I *
)
+
A S 4
10. The graph of £ 1s shown in Figure 2T-3 and £ is . 3 7Y e
twice difterentiable. Which of the following has 3
the largest value: £10), £/{0), F{0)? {B) 5 T X+
3
(A} F10) {C} }’ + i 4
- o oA 1
(C) £(0) (D) ‘%+_+f
x
(D) £iO) and £1 .
. . . : X
(E} £7(0) and {0} {E) 3T < +c

t : » /\ /\ > K
b t j d 0 h \ * a 0




12,

13.

gallons/hour

If p'{x) = gix) and g is a continuous tunction
]

for all values of x, then f gidxldx 18

1

(A) pl0} — pl—<)

{B) 4pi0) — 4p(—4)
1 ;

o o L
() 2p(0] = Zp(=4)
1 1
(D} ZPEOH- ZP'l—4}

() pi0) + P{—4)

Water is leaking from a tank at a rate
represented by £{t) whose graph is shown i
Figure 2T-4. Which of the following is the best
approximation of the total amount of water
leaked from the tank for 1 < ¢ = 32

14.

16.

17.
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9
(A} 3 gallons

{B) 5 gallons

(C) 175 gallons
(D) 350 gallons
{EY 450 gallons

If fix) = 5cost{m — x), then [’ (g) is
(4) 0 By —3 {C) 3
(B —10 (E1 10
"‘ jt ’ -
EY :fl ﬂT{fI, then g (2} is
2 2
A0 By —=— C) =
{A) (B) 53 (C) 3
-5
Dy — Ey -
(DD} 5 {E} Z

-

1f fh (2x — 21dx = —3, a possible value of & is
k

(A) —2 (B) 0 (C) 1
{E) 3

E

a 1]
0| fixide=— [ fix)dx for all positive
1] =

values of a, then which of the following could
be the graph of f? See Figure 2T-5.

( A

:
I 2 {hours)
Figure 2°T-4
(A} A (R) A
k.
) A (E)
0] X 0

B /

Figure 271-5

Y
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18, A function § is continuous on [, 53] and some
of the values of £ are shaown below:

xil35

[
f{x)L—Z bt —1

If £ has only one reot, r, on the closed interval
[1, 5], and r # 3, then a possible value of & 1s

(A} —1 (B} 0 () 1
(D) 3 (E) §

1 o .
19. Given the equation V = imz{j —r}, what 15

the instantaneous rate of change of V with
respect to rat r = 5?

(C) Fand I only
(I} II and Il only
(F} 1, 11 and III

22. The velocity function of a moving particle on

the x-axis 1s given as v{t] = 2~ 3t — 10. For
what positive values of t is the particle’s speed
increasing?

“

(A <t E) only

(B} ¢ = % only
{C} t =5 only
3
(DY 0 <t < 5 and ¢ > 5 only

{E] % <t <5 only

PAY 25n . S0m
W By 5
125z _ 23. The graph of f consists of two hine segments
(D) 25n {E) 3 and a semicircle for =2 = x =< 2 as shown in

20. What is the slope of the tangent to the curve
o oyi=Tarx=1?
.3 . 3
(A} —< {B) O (C) —=
2 2v2

3
(D} 5 (E) undefined

21. The graph of function £ is shown in
Figure 2T-6. Which of the following is true for
f on the interval (a, b)?

Figure 2T-6

1. The function f is differendiable on {a, f).
1. There exists a number k on (g, H) such that
flk)=10.
Hi. /7 = 0on{a, b} 23

(A} T only
(B} II only

24,

. If fix) = |x°], what is the value of lim1 Flixr?

2
Figure 2T-7. What 1s the value of f fixidx?

¥
A
1 f
. » o
) -1 1 Al t
-1
Figure 2T-7
(A) =2 —2x (B} =2 — 7 (C) —1— =
(D) 1+g (E} ~1 -
Whar is the average value of the function
Tm
= 2 int ' |
v = 3cos{2x) on the interval [ X 2]
) 2
(A} =2 (By —— (C) 0
T
1 3
D) — Ey —
(D) = (E) P

-

{A)
D}

3 {B) 0 )1
{E} undehned

W
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26. A spherical balloon is being inflated. At the () i B A:
instant when the rate of increase of the volume T2 T3
of the sphere 15 four times the rate of increase \ )
of the radius, the radius of the sphere 1s D) Yo A% 4
A 1 B | o | 2 3
o] ——= ¥ — L
S 4y ! N bid 32 3
F) — == +1§
{mmL (Eim 2 3
lém
27162 2 andar v = 0,y = 4, a solut
27. 1 A v and at x = {thy =4, a solution to 28. The area of the region enclosed by the graph of
the ditferential equation 1s x =y* — 1 and the y-axis is
4 2
%7 (A} —3 (B} O (Cy =
(A} y= = 3 3
3
3 4 .. 8
(B y=> +4 D) 3 (E} 3

3
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Section I—Part B

- Number of Questions Time Use of Calculator

@ 17 50 Minutes Yes

Directions:

Use the same answer sheet from Part A. Please note that the quicstions begit with number 76, This is not an
error. It is done to be consistent with the numbering system of the actual AP Caleulus AB Exam. All
questions are given equal weight. There is no penalty for unanswered questions, However, 1/4 of the
number of incorreet answers will be subtracted from the number of correct answers. Unless otherwise

indicared, the domain of a function £ is the set of all real numbers. 1f the exact numerical value does not
appear among the given choices, select the best approximate value, The use of a caleulacor i permitted in
this part of the exam.

76. The graph of {7, the derivative of £, is shown in 79, Let f be a continuous funcrion on [4, 10] and
bigure 2T-8. Ar which value of x does the have selected values as shown belows:
graph £ have a horizontal tangent?

|x"46 8 | 10

.
| £

]
L

~d

x)

]
|
f-lz.c@}z‘s 3.2

Using three right endpoint rectangles of equal
lengrh, whar is the approximate value of

E 1N
- fix)dx?
1 3 4
; r >
v o0 M h\_r (A) 8.4 (B) 9.6 (C) 14.4
(D} 16.8 (E) 20.8

80. Given a differentiable function £ with

]
Figure 3T-§ fi—=1)=2and f{—1) = —. Using a tangent line
to the graph of f atx = —1, find an

approximate value of f({~1.1}?

(A) x) (B) O (©) x (A) -3.05 (B) —1.95 (C) 0.95
(D} xy and x2 (F) x (D] 1.95 (E} 3.05
77. The position function of a moving particle is In v

sit) =544t -2 for0 < ¢ < 10 where 5 is in 81. The area under the curve of ¥ = —- from
meters and ¢ is measured in seconds. What is x=1tox=>b where b1 is 0‘6J6C. Then the
the maximum speed in m/sec of the particle value of & is approximately,
on the interval 0 = ¢ < 103 : .

_ } (A} 1.93 (B) 2.5 (C 315
(A) ~l6 (B0 (2 (D) 3.74 {£) 5.71
(D) 4 (E£) 16 '

. : . 82. The base of a solid is a region enclosed by the
78. How many points of inflection does the graph circle x* + 52 = 4. What is the Approximate

of y = cos (v7) have on the inrerval 0, m? volume of the solid if the cross sections of the
(Al 0 (B) 1 cy 2 solid perpendicular to the x-axis are
{D.} 3 (E} 4 sermicircles?



84.

{A) Sm iB lon (C 32r 86, Ar what value(s) of x do the graphs of ¥y = ¢*
' 3 3 and y = x7 + Sx have parallel tangent lines?
647 s12
Dy 2% Ty Tt (A} -2.5 (B) 0
3 L (Cy Oand S (D) —5 and 0.24
83. The temperature of a cup of coffee is dropping (F] —2.45 and 2.25
. t .
ar the rate ot f{r) = 4sin (1) degrees tor
0 <t = 3, where f is measured in Fahrenheit 87. Let y represent the population in a town. If y
and Lin minutes. It initially, the coffee 15 95°F, decreases according to the equation KO by, t
find its temperature to the nearest degree dt
Fahrenheit 5 minutes later. in years, and the population decreases by 25%
(A) 84 By 85 () 91 in 6 vears, then k =
(D} 92 (E) ¢4 (A} —8.318 (B --1.726 (Cy —0.231
o , ‘ (D) —0.120  (E} -0.048
The graphs of £/, g', p', and ¢" are shown in
Figure 2T-9. Which of the functions £, g, p, or
g have a relative minimum on {4, by? . v )
) 88. If Aix) = f {t — 5)'dr on [4, 8], then # bas a
(A} f only (Bl g only 4
(Cy ponly (D) ¢ only local minimum at x =
(Ey g and p only {A) 4 (Bt § (Cy 6
Dy 7 (E) 8
. What is the volume of the solid obtained by
revolving about the y-axis the region enclosed
by the graphs of x = ¥* and x = 9? A x
y the graphs of x = ¥ 811] * 89, If pix) = f git)dt a < x < b and the graph of g
. 1n . 48em Jd i
(Al 367 (B) " (C) —— is shown in Figure 2T-10, which of the graphs
1994 1944 - shown in Figure 2T-11 is a possible
D) —— —z graph of p?
¥ ¥ ¥
A A A
F g I
" » » J\ >
o (} b X 7 0 h x a 0 :
A
I
»
a Y h x
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Figure 2T-9
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90. The volume of the solid gencrated by revolving II. # has an absolute minimum at x = 3.
ahout the v-axis the region bounded by the III. # has a point of inflection ar x = 3.
graph of y = x7, the line y = 1 and the y-axis is

{A) H only
¥ {By Tl only
A _ (C) M and NI only
i (D) I, 11, and TII

(£} none

92. The equation of the tangent line to the graph of

0 X - . -
“ b ¥ =six for } <x = x at the point where
dy 1
= T I

A 4

dx 2
. 1 n N
|:A] Y= o (_'\j — _)
Figure 2T-10 2 3 2
! Ty W3
b _ 2r .. 3m (B} ":—(x‘":)-i-—,)—-
g (B) = ) = VT3
; g 3 1 1 T
2 3 DS I S AU
oy T (F) = (C) 2(3 2) r 3
3 4
: . ) . 1 1 oo
91. It fix} = — Ix — 3|, which of the following (D} y= 27 2) 73

statement about £ is crue?

I f1s differentiable at ¥ = 3.

¥ ¥ ¥

(A) A (B} A (e Y
—  — > | >
171 0 b ¥ “ 0 b x i 0 12 X
¥ ¥
(D} A (E) A
> ’ >

a 0 & g a 0 b X

Figure 2T-11



